
IØJXX di Donzello Rosanna 

Via della Fattoria di Torrenova 36 - 00133 Roma - Italy 

 +39 (0) 6 - 27858223 

VAT number: IT09527381009 

www.i0jxx.com - info@i0jxx.com 

5JXX4 Yagi 
Item  Q.ty Item  Q.ty 

Lock washer 4 mm Ø  14 Stainless steel bolt M4x35  8 

Stainless steel nut M4  14 Stainless steel bolt M4x40  1 

Lock washer 6 mm Ø  8 Plate PIA30JXX  1 

Flat washer 6 mm Ø  8 Semi-element Ø 12 mm Male / Female 5 + 5 

Stainless steel nut M6  8 Stainless steel parker screw 2.9x9.5  8 

Section boom A 25 mm Ø 120 cm. 1 Stainless steel bolt M4x16  5 

Section boom A—B 30 mm Ø 120 cm. 1 Dipole ISO25D_12  1 

Section boom B 25 mm Ø 120 cm. 1 Insulator ISO25_12  3 

Inbuss key 3 mm  1 Insulator ISO30_12  1 

Hairpin 150 mm 1    

IØJXX may vary them without any warning 
Made in Italy 

www.iØjxx.com  



IØJXX may vary them without any warning 
Made in Italy 

www.iØjxx.com  

ASSEMBLY INSTRUCTIONS 

Iniziare inserendo gli isolatori come riportato nelle figure, fissare con le viti rondelle e dadi 

Start by inserting the insulators as shown in the figures, fix with screws washers and nuts 

U Bolt M6 x 60 

Nut M6 

Flat M6 

Lock M6 

ISO30 12 

M4 x 16 

M4 x 40 

Nut M4 

Nut M4 

M4 x 35 

Nut M4 

ISO25 12 M4 x 35 

M4 x 16 

Nut M4 

Nut M4 

ISO25 12 

M4 x 35 

Nut M4 



IØJXX may vary them without any warning 
Made in Italy 

www.iØjxx.com  

Nut M4 

Nut M4 

M4 x 35 

M4 x 16 M4 x 16 

M4 x 35 

Nut M4 

Nut M4 

ISO25 12 

2.9 x 9.5 

2.9 x 9.5 

ITEM NUMBER 



IØJXX may vary them without any warning 
Made in Italy 

www.iØjxx.com  

DL6WU 7.38 m VE7BQH 7.01 ÷ 6.64 m 

E 

+ + 

                     5982            5982 

Plane E =  47.8°    =  ———————  =  ———    7.38 m (with VE7BQH from 7.01 m to 6.64 m) 

                               2 * sin (47.8 / 2)      0.8103 

  

          5982          5982 

Plane H =  58.0°  =  ———————  =  ————    6.17 m (with VE7BQH from 5.86 m to 5.55 m) 

                       2 * sin (58.0 / 2)       0.9696 

DL6WU 6.17 m 
 

VE7BQH 

+ 

+ 

H 

Stacking 

      L 

d  = ——————— 

        2 * sin (  / 2 )  

1 1 

2 
2 

3 
3 

5 
5 

M4 x 8 

In order to obtain the best results in coupling the antennas, we warmly recommend an adequate antenna stacking calculation which 
would allow the best forward gain together with low side lobes. The stacking distance may be calculated with the following formula 
from Güenter Hoch DL6WU 
On the basis of further studies conducted by Lionel VE7BQH over the antenna stacking argument, a reduction of 5÷10% may be 
introduced on stacking distances without noticing significant overall worsening of the characteristics. Do respect the driven element 
supplying symmetry to allow anti-phase coupling 


